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Aristotle - made as simple as I can.

Ok, as we know Aristotle was hugely influenced by Plato. He develops plato’S ideas further.

Plato believed in the ‘REALM OF THE IDEA’ Aristotle did too, but what he thought was slightly different.

plato thought that in this other realm was the perfect idea of a tree, apple, table - everything. and what we see with our eyes are just copies of this. 

Plato felt that the IDEA ( The perfect thing in the other realm) was much more important and significant than than the copies that we can see and eat and touch.

Now Aristotle change the name that plato used. What plato called IDEAS, Aristotle now called FORMS.

PLATO - IDEA
   }               SAME THING

ARISTOTLE - FORM }

Aristotle believed that the FORM (The perfect thing that exists in the other realm) is very important - but not as important as Plato believed it was.

Aristotle also believed that the form ( The perfect thing that exists in the other realm) could not exist without MATTER (The physical substance that makes it real)

FORM and MATTER need each other according to ARISTOTLE. cannot exist without the other. E.G. THE FORM (the perfect thing that exists in the other realm) of a tree cannot exist without a bark, trunk and leaves.

Similarly matter cannot exist without form (the perfect thing that exists in the other realm) e.g. a tree must have an element of ‘treeness’ in it to be a tree or a rock must have an element of ‘rockness’ in it to be a rock. If the matter did not have form (the perfect thing that exists in the other realm) then it couldn’t exist.

This marked a very significant development in Philosophical thought. Where as Plato felt that the Form (or IDEA as he liked to call it) was the most important thing and that the physical things that we see cannot be trusted, Aristotle disagreed and felt that FORM (the perfect thing that exists in the other realm) and Matter (the physical things that we can see, touch, hear, etc) are equally important.

Does this make things any clearer?

